SPARE PARTS DRAWING 12088900 AC RAILBUS O SCALE

e

= % = TN
\i T 1

1 T

®x1

3 ol [~

p——

[
x1 U@xz HEx1 Cl@xz p@x2 DExz2 bEx2 b @@x2

= @hx2
o @@x2 J@XZL.XZ t@x2 ‘(.xz j X2 xz ﬂxz %@XZ H]@M H:E@XZ

Wﬂ@ o

mmmT%
[U'D E@xz @)@xz f).xz E:B@xz ~—@)x8 ——@IX8

Al

Tox, CT2@x1  @ERH@x2 TI@x2 mJ@X1 @xt [ SR®xz EE@®x2  na@xi
i
TN %m %]m @x1 Jax EE@x @x1 Daoxs

@x1 WHBX1 @1 \\zﬂm

Eex: @M w1 [MMesxs (Elex: H Hoxt Bex 7 Jex
[F=@x [ Jex 0@xt1 “@x1  (3@x1 NG B, @x2

gussTaims

par— T BE@x 1 e = B
i
L,, - S— ] X1 - e jm—
—= ? — ] =(exe £TEl@x oS
(]
\°———}‘:] ‘ 01,-:4-1_1 — 5 @OX 1 x1 x1

Coge  Bon  =en = —eu Foo  den
Box: o [oeoe mEesmex

4 x Pinion Gear 16Z 1 x Heljan STD. 21 pin PCB
2 x Spurgear 24Z-18Z 1 x 21 pin dummy plug
2 x Pinion Gear 142 2 x Wheel set
8 x Gear Axel 2 x Screw M2.1x3.0
2 x O-ring 4 x Screw M2.1x4.0
1 x 5pol. TECO Motor 4 x Screw M2.1x8.5
2 x Wheel! gear 18Z 4 x Screw M2.5x1.5
2 x Screw M1.8x2.0

UK contact and spare parts requests please contact

Ei HELJAN UK
= A Unit 2C & 2D, Station Field Industrial estate, Kidlington, Oxford, OX5 1LA
WWW HELJAN DK == Phone: (01865) 848000 - heljanuk@yahoo.co.uk



